1)  An agronomist wants to compare the crop yield of three varieties of chickpea seeds. She plants 15 fields, five with each variety. She then measures the crop yield in bushels per acre. The results are presented in the following table:

	Seed 1
	Seed 2
	Seed 3

	11.1

13.5

15.3

14.6

9.8
	19.0

18.0

19.8

19.6

16.6
	14.6

15.7

16.8

16.7

15.2


Use the following computer printout to test for the equality of mean crop yields of the three different seeds at 0.01significance level. What is the p-value for this test. Explain the meaning of the p-value.

	Anova: Single Factor
	
	
	
	
	

	SUMMARY
	
	
	
	
	
	

	Groups
	Count
	Sum
	Average
	Variance
	
	

	Seed 1
	5
	64.3
	12.86
	5.463
	
	

	Seed 2
	5
	93
	18.6
	1.74
	
	

	Seed 3
	5
	79
	15.8
	0.905
	
	

	
	
	
	
	
	
	

	ANOVA
	
	
	
	
	
	

	Source of Variation
	SS
	df
	MS
	F
	P-value
	F crit

	Between Groups
	82.38533
	2
	41.19267
	15.24149
	0.000508
	6.926598

	Within Groups
	32.432
	12
	2.702667
	
	
	

	
	
	
	
	
	
	

	Total
	114.8173
	14
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